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ZMC = 0,—A,(8m) + 450(4m) = 0

A, = 2251b,C,, = —2251b,C, = 4501b
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o Joint A.
+TEF, = O 225 1b — Fupsind45° = 0
Fin = 318.201b = 318 Ib (C) Ans.
LEF, = 0O Fug — (318.20 1b) cos 45° = 0
Faiog = 225 1b(T) Arns
Joint B.
LEF, =0 Fge— 2251b = 0
Fgr = 225 1b(T) Ans
+T2F, = O Fgn = 0 Ans.
Joine D.
LEF, = g
Fepcos 45° + (318.20 1b) cos 45° — 4501b = 0O
Fep = 318.201b = 318 1b(T) Ans.

sda Al sumg ¢ 35lall o paie JS 38,3511 G9all covn! :(2) Ulas
Jais g s Wl § 2ilS 13] puoliall
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IJL&EQ‘JﬁJ)&,’L&h}
ZFx —0,-B,+4,=0
ZFy =0,-300 + B, =0

EMB —0,-A4,(3) + 300(4) = 0
= 4001b, B, = 3001b, B, = 4001b

Joint 1),

+12F, = 0; $ Fep — 300 = 0;

Fep = 50016 (T) Ans.
£ 3F, = 0; —Fy + (500) = 0

Fip = 4001b(C) Ans.
Fge = 5001b(T), Fye = Fap = 0 Ans.

sda Wl i ¢ ladl (e paie S 38,5501 G9al cus ! 2(3) WUl
dais gl s Al 3 S 13 poliall
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31t
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800 1b
s JLad¥! a9,
D, =2001b, D, = 6501b, B, = 1501b
Joint B.
e 3F. =0, Fg, =0 Ans.

+12F, = 0; 150 — Fye = 0: Fge = 1501b (C) Ans.
Joinr A.

s ZF, = 0 Fael2) = 0: Fye =0 Ans.
+13F, = 0: Fyp — 800 = 0; Fy;, = 800 1b(T) Ans.
Joint C.

£ SF, = 0; —Fpp + 200 = 0; Fp = 2001b (T) Ans.
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+12F, = 0; Fepsind5® — 600 — 800 = 0
Fep = 1980 1b (T) Ans.
C+EM- = 0; Fedd) — 800(4) = 0
Fre = 800 1b (T) Ans.
C4+EIME = 0; Fgd4) — 600(4) — 800(8) = 0
Fge = 2200 Ib (C) Ans.

sobliadl sda > 50>9 EF ,CFBC uobliall 35,3511 (gsall izl : (5) Alue
L ol aags 13|
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LA A, LN Y

C+EM, = 0; (12 m) — 20 kKN(2 m)
— A KN4 m) — 40kN(Gm) = 0
G, = 3333 kN
+12F, = 0;: Fge + 33.33kN — 40kN = 0
Fre = 6.67 kKN (C) Ans.
G+ EM, = 0
IF333KN(E m) — 40 kN(2 m) — Fep(3 m) = 0

Fep = 6222 kN = 62.2 kN (T) Ans
TEF, =0; Fip — 6222kN =0
Fre = 62.2 kKN (C) Ans.

soliall sda Al 50>g EF ,CFBC uoliall 35,3501 (gsall izl 1 (6) Alue
L ol haas oK 13)
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From the geometry of the truss,
# = tan"' (1 m/2 m) = 26.57°
¢ =tan ' (3m/2m) = 56.31°.

The locaton of @ can be [ound using similar
triangles.

1 m 2 m

2 m 2m + x

dm=2m + x

x=2m
C+EIM; = 0;
2625 kN(dm) — IS5kN(Z2m) — Fp(3m) =0
Fep = 25kN (T) Ans.
C+EIM, = 0;
26.25 kN(2 m) — Fpcos 26.57°(2 m) = 0
Ferp = 293EkN(C) Ans.

C+EM, = 0; 15kN(4 m) — 26.25 kN(2 m)
— Fopsin 56.31%4m) = 0
Fpp = 2.253kN = 2.25kN (T) Ans
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sobiadl sda Ul 509 EF ,CFBC yuoliall 8,351 (g9all azgl : (7) Ulue

L ol haas oK 13)
20kN 30 kN 4 kN
From the geometry of the truss,
¢ = tan (3 m/2 m) = 56.31°.
C+IM; = 0;
3333KkN(Em) — 40kN(Z2m) — Fep(3m) = 0
Frp = 622 kN (T) Ans.
C+EMp =0: 3333kN(6m) — Fe{3m) = 0
Fy; = 66.7 kN (C) Ans.
+TZF, = O;
3333 kN — 40kN + Fgpsin 56.31° = 0
Fip = 8.01 kN (T) Ans.
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